Verification of PI6C557-03A IBIS model
1. Introduction: to verify the ibis model, we need to do some simulations for OUTPUT1: 
With 33Ω resistor , 10-inch trace, 50Ω pull-down resistor and 2pF pulldown capacitance to the OUTPUT:
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1) The frequency of signal is 20MHz, clamp=1: 
vinn	inn	0	pulse(0 clamp 0n 0.1n 0.1n 24.9n 50n)
vinp	inp	0	pulse(clamp 0 0n 0.1n 0.1n 24.9n 50n)
i. Simulation without package data;
ii. Simulation with package data.

2) The frequency of signal is 100MHz, clamp=1: 
vinn	inn	0	pulse(0 clamp 0n 0.1n 0.1n 4.9n 10n)
vinp	inp	0	pulse(clamp 0 0n 0.1n 0.1n 4.9n 10n)
iii. Simulation without package data;
iv. Simulation with package data.



2. Simulation Result:
A. 20MHz:
i. Simulation without package data;
[image: ]
ii. Simulation with package data:
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B. 100MHz:
iii. Simulation without package data;
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iv. Simulation with package data: 
[image: ]

image3.png
1.0

08

06

04

02

00

02
1.0

075

05

025

00

1.0

075

05

025

00

TYE

(190n, 0.81206)

(190n, -0.096453)

(190n, 0.75841)

(190n, -0.077896)

MA;

(190n, 0 86858)

(190n, -0.11003)

180n

190n

v(ibs_outp)

v(ibs_outn)

V) 1ts)
v(ibs_outp)

v(ibs_outn)

V) 1ts)
v(ibs_outp)

v(ibs_outn)




image4.png
1.0

0rs

05

025

00

025

1.0

0rs

05

025

00

025
1.0

0rs

05

025

00

025

TYP

(190n, 0.81599)

(190n, -0.13515)

MIN

(190n, 0.76518)

(190n, -0.11162)

MAX

(190n, 0.86537)

(190n, -0.14211)

175n

180n

185n

v(ibs_outp)

v(ibs_outn)

V) 1ts)
v(ibs_outp)

v(ibs_outn)

V) 1ts)
v(ibs_outp)

v(ibs_outn)

190n 195n 200n




image1.png
1.0

viibs_outp
08 &
06 (190n, 0.84317) v(ibs _outn
04 TYp
02 (190n, -0.0010779)
00 a
-02
10 V) 1ts)
viibs_outp
o viibs_outn
(190n, 0.7895) —
05 MIN
02 (190n, 520.16)
00
V) 1ts)
10
viibs_outp
075 —
(190n, 0.897) v(ibs _outn
05 it
025 (190n, -0.0011081)
00
025

150n

160n

170n

180n 190n 200n

210n




image2.png
1.0

viibs_outp)
075 N f\‘/\/—
(190n, 0.85528) viibs_outn)
05 —
TYP

025 (190n, -490200)
00 v\/\/—\, \/\p/—\, @/ \/\/\/
025

V) 1ts)
10

viibs_outp)

(1900, 0.80161) v{ibs_outr)

05
025 MIN (190n, -0.0010254)
st e
025

V) 1ts)
10

viibs_outp)
075 (190n, 0.9178) tbsoutn
05 —
025 (190n, 21647u)
00
025

150n 160n 170n 180n 190n 200n 210n




